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The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level History 
9489, and to show how different levels of candidates’ performance (high and middle) relate to the subject’s curriculum 
and assessment objectives. 

In this booklet, candidate responses have been chosen from the June 2021 series to exemplify a range of answers. 

For each question, the response is annotated with a clear explanation of where and why marks were awarded or 
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is 
possible for you to understand what candidates have done to gain their marks and what they could do to improve their 
answers. There is also a list of common mistakes candidates made in their answers for each question. 

This document provides illustrative examples of candidate work with examiner commentary. These help teachers 
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some 
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are: 

9489 June 2021 Question Paper 21

9489 June 2021 Mark Scheme 21

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support

Introduction

http://www.cambridgeinternational.org/support
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How the candidate could have improved their answer

•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 
connections between factors and reach Level 4. The answer provided, in the second paragraph, an unsupported 
claim that taking swift action would have increased support for Roosevelt. The explained factor dealt with his 
actions over the banks. The response became more generalised in its description of Roosevelt’s actions regarding 
Alphabet Agencies and fireside chats.

Common mistakes candidates made in this question

•	 (a) Some answers described what Roosevelt did in his First and Second New Deals.
•	 (b) Some responses ignored the question’s timeframe, the 1920s, and focused on Franklin Roosevelt’s actions 

regarding the Great Depression.
Lists the common mistakes candidates made 

in answering each question. This will help your 
learners to avoid these mistakes and give them the 

best chance of achieving the available marks.

Often candidates were not 
awarded marks because they misread or 

misinterpreted the questions. 

       The candidate identifies a 
factor.

       This refers to dealing with 
the banking crisis.

       The candidate describes 
why Roosevelt (FDR) began 
his presidency with a ‘Hundred 
Days’ plan.

This section explains how the candidate could 
have improved each answer. This helps you to 
interpret the standard of Cambridge exams and 

helps your learners to refine their exam technique.

How to use this booklet
This booklet goes through the paper one question at a time, showing you the high- and middle-level response for each 
question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in the 
right-hand column are the examiner comments.

Example Candidate Response – high Examiner comments

Answers are by real candidates in exam 
conditions. These show you the types of answers for 

each level. Discuss and analyse the answers with your 
learners in the classroom to improve their skills.

Examiner comments are 
alongside the answers. These 
explain where and why marks 
were awarded. This helps you 

to interpret the standard of 
Cambridge exams so you can 

help your learners to refine their 
exam technique.

1

2

1
2

3

3
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Question 1

Example Candidate Response – high Examiner comments

1

2

3

       

       Factors are identified which 
cause the Estates General (EG) to 
fail to deal with the problems France 
faced.

       The candidate explains the 
problem the voting system in the 
EG creates – voting by order 
means that the First and Second 
Estates can always outvote the 
Third Estate, and this means the 
problems facing the country are not 
addressed.

       The candidate explains that 
the unwillingness of the First and 
Second Estates to give up their 
privileges regarding taxation creates 
a stalemate.

3

1

2
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Example Candidate Response – high, continued Examiner comments

       The final explanation refers to 
the king’s lack of effort to address 
voting by order which causes the 
creation of the National Assembly 
and this signifies the end of the EG.

       In the conclusion, the candidate 
offers an attempt at significance. 
They state it – the actions of the 
king – rather than assess it against 
the other explanations in terms of 
significance.

       This is speculation.
Mark for (a) = 8 out of 10

4

5

6

4

5

6
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Example Candidate Response – high, continued Examiner comments

       The candidate provides 
an outline of both sides of the 
argument – Napoleon as First 
Consul does/does not maintain the 
principles of the Revolution.

       They provide support for the 
argument that Napoleon does 
not maintain the principles of the 
Revolution in the reference to the 
limits to male franchise. There is 
additional support in the reference 
to the restrictions women face.

       The case against Napoleon 
maintaining the principles of 
the Revolution receives further 
support with an examination of his 
use of censorship, propaganda 
and the secret police. They give 
support for the roles of censorship 
and the secret police; the role of 
propaganda is a statement.9

7

8

9

7

8
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Example Candidate Response – high, continued Examiner comments

       The candidate uses the 
Concordat as an example of 
Napoleon maintaining the principles 
of the Revolution.

       This is an invalid statement. 
They were replaced in 1796. The 
Bank of France had the monopoly 
on note issue and backed it with 
gold and silver.

       The candidate discusses 
the role of education as a further 
example of how Napoleon 
maintains the principles of the 
Revolution.

       The conclusion provides a 
summary rather than a reasoned 
judgement.
Mark for (b) = 12 out of 20

10

11

12

13

10

11

12

13
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Example Candidate Response – high, continued Examiner comments

Total mark awarded = 
20 out of 30

How the candidate could have improved their answer
•	 (a) The answer started well with specific factors identified (the system of voting/power of the king and First and 

Second Estates/mistake made by Louis XVI). 
•	 (a) These were developed to provide explanations as to why the Estates General was not able to deal with the 

problems France faced. 
•	 (a) The concluding paragraph, however, was a summary, and the answer did not address the ways that the factors 

explained were connected. This meant Level 4 could not be reached. 
•	 (b) At the start, a clear outline was provided of both sides of the argument. The argument for Napoleon not 

maintaining the principles of the Revolution was supported with specific details of his actions (voting/rights of 
women), set against Revolutionary principles. 

•	 (b) Further support was given in the discussion of his use of censorship and the secret police, which went against 
Revolutionary principles. 

•	 (b) The argument could have been stronger through specific examples of the propaganda Napoleon used and the 
actions the Revolution took regarding censorship. The Concordat with the Church was a valid area to examine. 

•	 (b) It could also have been improved by outlining the Revolution’s principles regarding the Church. For example, its 
advocacy of tolerance in religion and the sale of Church lands to lessen its power. 

•	 (b) The arguments over the economy and education were generalised and contained an inaccuracy; the assignats 
were replaced by the Directory, not Napoleon. 

•	 (b) The conclusion was a summary of previous points rather than an assessed judgement.
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Example Candidate Response – middle Examiner comments

       

       The candidate describes why 
the Estates General (EG) met and 
who made up the EG.

       The candidate explains 
that voting by order leads to the 
formation of the National Assembly 
and the end of the EG, and its 
ability to deal with the problems 
facing France.
Mark for (a) = 6 out of 10

       The candidates states that 
Napoleon maintained the principles 
of the Revolution.

3

1

2

1

2

3
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Example Candidate Response – middle, continued Examiner comments

       The candidate describes 
Napoleon’s currency reforms and 
his control of bread prices.

       It re-affirmed its ending.

       This is an invalid reference 
as it was created in 1806 and 
operational in 1808. The question’s 
timeframe is 1799–1804.

       The candidate provides the 
other side of the argument, that 
Napoleon did not maintain the 
principles of the Revolution, in the 
references to women and education 
for the peasantry.

       The candidate provides further 
description of Napoleon’s actions 
– reform of local government, the 
judiciary and some introduction 
of meritocracy. The reference to 
making himself emperor is an 
invalid statement as the question’s 
focus is Napoleon’s actions as First 
Consul.

       The candidate provides a 
summary.
Mark for (b) = 10 out of 20

Total mark awarded =
16 out of 30

4

5

6

4

5

6

9

7

8

9

7
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How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The cahiers were described rather than explained as to why the Estates General was unable to deal with the 

issues France faced. For example, the lack of governmental guidance created inflated expectations over their 
efficacy to solve the issues. 

•	 (a) The explained factor was the creation of the National assembly out of frustration with the adopted system of 
voting.

•	 (b) The opening paragraph provided general points on how Napoleon became First Consul and that he did 
maintain Revolutionary principles. 

•	 (b) The use of generalised points continued in the section on the economy, but the lack of specific reference to 
Revolutionary principles regarding economic matters meant there was a lack of depth. 

•	 (b) The paragraph which followed, on the Napoleonic code, was more secure as it did link it to Revolutionary 
principles. Whilst there was an attempt at balance in the section dealing with women and education, there were 
no specific examples given regarding Revolutionary principles. This lack of specifics continued in the penultimate 
paragraph. Therefore, the use of more detailed knowledge of Revolutionary principles could have improved the 
answer. 

•	 (b) The references made to making himself emperor and placing his family on foreign thrones were invalid because 
they were outside the timeframe of the question’s focus. 

•	 (b) The conclusion was a generalised statement, not an assessed judgement of the question.

Common mistakes candidates made in this question
•	 (a) Some candidates did not show the connections between explained factors.
•	 (a) Some of the answers were too long, impacting on the timing for the other answers.
•	 (a) Answers described, sometimes, why the Estates General was called.
•	 (b) Sometimes Napoleon’s actions were described without reference to the principles of the Revolution.
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Question 2

Example Candidate Response – high Examiner comments

1

2

3

       The candidate explains that 
the introduction of threshing 
machines leads to resistance to 
mechanisation because finding 
work on the land is difficult enough 
without the addition of machines.

       The candidate describes how 
wages are lowered for skilled 
workers.

       The candidate does not 
complete the sentence.
Mark for (a) = 6 out of 10

3

1

2
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Example Candidate Response – high, continued Examiner comments

       The candidate makes a 
general statement that transport 
development is one of several 
causes of industrialisation.

       The candidate analyses canals’ 
role in industrialisation.

       Macadam roads are a further 
development in transport which 
brings about industrialisation.

4

5

6

4

5

6
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Example Candidate Response – high, continued Examiner comments

       The candidate provides a 
brief outline of the role of railways 
in bringing about industrialisation 
without explanation.

       The candidate provides the 
other side of the argument in the 
examination of access to resources, 
such as coal and iron ore, vital to 
industrialisation.

7

8

7

8
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Example Candidate Response – high, continued Examiner comments

       Changes in agriculture provide 
further support for the role of factors 
other than transport developments 
in bringing about industrialisation 
– an increase in agricultural 
production provides food for people 
in towns. This helps to increase 
the population, and this provides 
the available workforce which 
industrialisation needs.

       They provide additional support 
in the discussion of mechanisation 
and its impact on the textile industry 
– speedier production and better 
quality goods.

       The candidate acknowledges 
the role of capitalism.

       The concluding paragraph is a 
statement rather than a reasoned 
judgement.
Mark for (b) = 15 out of 20

Total mark awarded =
21 out of 30

9

10

11

12

9

10

11

12
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How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The explained factor was the use of threshing machines which undermined attempts to find work in rural areas, 

as opportunities were already limited. 
•	 (a) The reference to the lowering of wages could have been developed by linking it to the impact of mechanisation 

on skilled textile workers, as their traditional methods could not compete with the new mechanised way of 
production. 

•	 (a) The production of a second explained factor would have opened the possibility of access to Level 4.
•	 (b) The answer started with a brief, clear statement that other factors, as well as transport developments, brought 

about industrialisation. 
•	 (b) Arguments supporting transport developments as the most significant factor in bringing about industrialisation 

were given in the second and third paragraphs. 
•	 (b) The impact of canals and Macadam roads was examined in relation to the development of industrialisation. 
•	 (b) The role of railways was underdeveloped, limited to a few bulleted points, rather than an explained argument. 

Balance was achieved in the examination of Britain’s access to resources such as coal and iron ore, and the roles 
of agriculture developments, mechanisation, and capitalism in bringing about industrialisation. The latter could have 
been further developed through reference to how the laissez-faire approach of successive governments created an 
atmosphere supportive of investment and innovation. 

•	 (b) The concluding paragraph was a summary rather than an assessed judgement.
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Example Candidate Response – middle Examiner comments

       The candidate gives a list of 
reasons why some of the lower 
classes resisted mechanisation – 
job loss, pollution and changes to 
some industries.

       The candidate provides an 
explanation – the efficiency of 
machines, which reduces both costs 
and time of production, and this 
leads to job losses which produces 
resistance. They reference the 
Luddites in support.

       Pollution is an invalid 
statement.3

1

2

1

2

3
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Example Candidate Response – middle, continued Examiner comments

       The candidate states that 
supply outstrips demand in the 
textile industry without explaining 
why this leads to resistance to 
mechanisation by some of the lower 
classes.

       The candidate makes reference 
to some of the lower orders being 
displeased by having to adapt 
to changes in the textile industry 
without explaining why these 
workers are displeased.

       This is a repetition of earlier 
points in the opening paragraph.
Mark for (a) = 6 out of 10

4

5

6

4

5

6
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Example Candidate Response – middle, continued Examiner comments

       The candidate provides 
a general statement that 
developments in transport increase 
the speed of the transportation of 
goods and lead to the development 
of the factory system.

       The candidate provides 
an examination of canals and 
industrialisation – they can 
transport increased amounts 
of food, which the Agricultural 
Revolution produces, to the growing 
population. This, alongside the 
need to get goods to ships for 
international trade, leads to an 
increase in the number of canals, 
and to a growth in wealth and 
capital.

7

8

7

8
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Example Candidate Response – middle, continued Examiner comments

       The candidate explains the 
role of canals and railways in 
transporting coal to the factories to 
power their machinery.

       The costs of transport 
developments limiting 
industrialisation is an invalid 
statement as such developments 
create employment, and stimulate 
allied industries such as coal, iron 
and steel.
Mark for (b) = 9 out of 20

Total mark awarded =
15 out of 30

9

10

9

10
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How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The explained factor was the loss of jobs, brought about by the more efficient, and more cost-efficient machines 

which reduced incomes. This was linked to the actions taken by the Luddites to safeguard their livelihoods. 
•	 (a) The issue of pollution was not a factor and the way it significantly impacted on certain industries was left 

unclear. 
•	 (a) More detailed examples relating to the question’s focus would have improved the answer.
•	 (b) There was a loss of the question’s focus in the opening paraph with the reference to the cost of transport 

developments acting as a brake on industrialisation. The answer would have benefited, therefore, from maintaining 
a comparative analysis with factors other than transport developments. 

•	 (b) The role of transport developments was examined, but more detailed evidence to show how transport 
developments impacted on industrialisation would have strengthened the answer. For example, canal construction 
created jobs, which increased the market for manufactured goods. Their construction also required investment, 
which further developed the financial system needed for industrialisation. The answer would have been improved 
with a developed explanation of railways and industrialisation and its need for coal. Iron and steel acted as a 
stimulus to these industries. 

•	 (b) The loss of the question’s focus meant that the roles of mechanisation, agricultural change, innovation, and 
laissez-faire capitalism were not examined. 

•	 (b) The final paragraph was a summary of points made earlier in the answer.

Common mistakes candidates made in this question
•	 (a) Some answers presented descriptions of living and working conditions.
•	 (b) Some responses failed to consider the alternative side of the argument, so they lacked balance.
•	 (b) Some answers lacked specific detail which meant there was a lack of supporting evidence for the argument.
•	 (b) Generalised descriptions of roads, canals and railways were given, or it was stated that railways allowed the 

new urban working class to commute to work.
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Question 3

Example Candidate Response – high Examiner comments

1

2

3

       The candidate gives a brief 
outline of why the New Economic 
Policy (NEP) is introduced in 1921.

       This is a typo – increases.

       They provide an explanation 
that War Communism (WC), 
because of its punitive nature, 
leads to a fall in food production 
and creates famine. The NEP is 
introduced to reverse this fall.

       The candidate gives a 
further explanation by examining 
the growth of opposition to the 
Bolsheviks, which WC produces. 
The need to keep power leads the 
Bolsheviks to introduce the NEP.

3

4

1

2

4
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Example Candidate Response – high, continued Examiner comments

       

       The final explanation the 
candidate provides is the ending of 
the Civil War by 1921. There is no 
need to keep the harsh discipline of 
WC as its aim of victory in the Civil 
War is achieved. This means the 
Bolsheviks can focus on the needs 
of the Russian people.

       This is speculation, it is an 
invalid statement.

       The final lines are a repetition 
of earlier points.
Mark for (a) = 8 out of 10

5

6

5

6

7

7
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Example Candidate Response – high, continued Examiner comments

       The candidate provides, in 
brief, both sides of the argument 
and supports the failure to achieve 
peace as the reason why the 
Provisional Government (PG) falls 
in October 1917.

       The candidate examines how 
continuing the war had a negative 
impact on an already fragile 
economy. It is the need to address 
these problems which leads to the 
PG’s fall.

9

8

9

8
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Example Candidate Response – high, continued Examiner comments

       The candidate provides 
additional support for the key role 
the failure to achieve peace plays 
in the fall of the PG by discussing 
the loss of support it produces in 
the Russian people. The Kornilov 
affair provides an example of the 
weakness of the PG due to the loss 
of support as the PG supplies the 
Bolsheviks with arms, which are 
used against the PG in October 
1917.

       Typographical error – 
Provisional Government.

       The candidate provides 
the other side of the argument 
by examining the impact of the 
slogan ‘Peace, Land and Bread’, 
the organisation and leadership 
of Lenin and Trotsky, and the role 
of Order Number One on October 
1917.

10

11

12

10

11

12
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       The concluding paragraph 
restates their view that the failure to 
achieve peace is the reason the PG 
falls in October 1917.
Mark for (b) = 14 out of 20

Total mark awarded =
22 out of 30

Example Candidate Response – high, continued Examiner comments

13
13

How the candidate could have improved their answer
•	 (a) The response started clearly with three points outlined in the opening paragraph. 
•	 (a) The following paragraphs provided explanations for the introduction of the New Economic Policy in 1921 

relating to War Communism, the growing loss of support for the Bolsheviks and the changed circumstances as the 
Civil War came to an end. 

•	 (a) The explanation concerning the growing loss of support could have been more securely supported through 
specific reference to the Kronstadt Naval revolt, which revealed the depth of opposition War Communism had 
created. 

•	 (a) The response could have accessed Level 4 if it had shown the connection between the various explained 
factors. 

•	 (a) The final paragraph was a summary of previous points and was speculative.
•	 (b) The answer started well with both aspects of the argument addressed. 
•	 (b) The second and third paragraphs examined how not achieving peace led to the fall of the Provisional 

Government in October 1917 – economic impact and the growing loss of support due to losses in the war. The 
argument fell away as the speculative point was made that if there had been peace then the Kornilov Affair might 
not have happened. A balance was achieved through the examination of the role of the Bolsheviks in October 
1917. 

•	 (b) The reference to Lenin’s slogan. ‘Peace, Bread and Land’, could have been developed further – it highlighted 
the Provisional Government’s lack of action over land reform, central to the peasantry, who were most Russians – it 
was an example of the clever politics of the Bolsheviks, one slogan encapsulating what Russians wanted. 

•	 (b) The issue of divided sovereignty was seen in the paragraph which examined Order Number One. 
•	 (b) The final paragraph was a summary which used speculation and did not reach an assessed judgement.
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Example Candidate Response – middle Examiner comments

       The candidate gives three 
reasons for the New Economic 
Policy’s (NEP) introduction – fix the 
economy, stop inflation and make 
food more available.

       The candidate notes the 
element of private enterprise in 
the NEP without linking it to the 
specifics of War Communism. 
Instead, they make a general 
reference to the First World War.

       Inflation causing the 
introduction of the NEP is an invalid 
statement.3

1

2

1

2

3
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Example Candidate Response – middle, continued Examiner comments

       The candidate explains that the 
role of food requisitioning by the 
Bolsheviks disrupts the supply of 
food to everyone except Bolshevik 
troops. The NEP’s introduction is to 
deal with this problem.

       This is an invalid statement.

       This is an invalid statement as 
this argues for not introducing the 
NEP.
Mark for (a) = 6 out of 10

4

5

6

4

5

6
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Example Candidate Response – middle, continued Examiner comments

       The candidate provides both 
sides of the argument, supporting 
the role of other factors in the fall 
of the Provisional Government 
(PG) over that of the PG’s failure 
to achieve peace. The reference 
to Duma is a typo for Provisional 
Government.

       The candidate provides 
an account of Lenin’s aims in 
October 1917 – achieve power 
for the Bolsheviks alone. This 
determination, rather than the 
failure of the PG to achieve peace, 
leads to the fall of the PG.

       The candidate provides further 
causes for the fall of the PG in 
October 1917 – the prevalence of 
radical ideas, circulating since the 
Tsar’s abdication, and bread riots.

7 7

9

8

9

8
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Example Candidate Response – middle, continued Examiner comments

       The candidate examines 
the impact on Russia of failing to 
achieve peace – loss of life, food 
shortages, growing support for the 
Bolsheviks amongst the military and 
mutiny and desertions.

       The final paragraph provides a 
repetition of some earlier points.
Mark for (b) = 9 out of 20

Total mark awarded =
15 out of 30

10

11

10

11
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How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The explained factor was the fall in food production due to the forced seizures by the government, this led to 

famine and the New Economic Policy was introduced to fix this problem. 
•	 (a) A specific reference to War Communism and the Civil War would have made the response more secure.
•	 (b) The answer started with a slight confusion over terminology – Duma for Provisional Government – but the 

reference to Lenin’s aim to seize power for the Bolsheviks alone and not to work with the Provisional Government 
was valid for the question’s focus. 

•	 (b) The response would have benefited from the development of the reference to the Petrograd Soviet and the fall 
of the Provisional Government, for example, Order Number One and Trotsky’s role in the Soviet. These specific 
examples would have added evidential depth to the argument. 

•	 (b) The answer continued the argument with references to the growth of radical ideas after the Tsar’s fall and 
problems over food supply leading to falling support for the Provisional Government. This would have benefited 
from more detailed support – Lenin’s ‘April Thesis’ – military needs disrupting food supplies – disgruntled troops 
becoming more radicalised. 

•	 (b) The concluding paragraph offered a summary of earlier points, not an assessed judgement.

Common mistakes candidates made in this question
•	 (a) Some answers lacked specific detail, such as the problems War Communism created or the impact of the 

Kronstadt Naval Revolt on Bolshevik confidence in maintaining power.
•	 (b) Some answers provided a narrative of October 1917 or confused ‘peace’ with internal law and order.



Example Candidate Responses – Paper 2

34

Question 4

Example Candidate Response – high Examiner comments

1

       The candidate explains the role 
of blockade runners, which British 
companies supply, in undermining 
the Northern Blockade. This allows 
the South to continue to fight for 
longer.

1
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Example Candidate Response – high, continued Examiner comments

       The Confederacy.

       The candidate provides a 
further explanation on Britain’s 
role in supplying ships, unarmed, 
which the South arm, and use 
them to attack Northern shipping, 
successfully, which strengthens the 
South’s war effort.

       The candidate references the 
Trent Affair.

       They explain that the blockade 
runners Britain supplies helps 
the South to continue to fight and 
prolongs the war as they provide 
some balance against the North’s 
greater supply of men and material.
Mark for (a) = 8 out of 10
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Example Candidate Response – high, continued Examiner comments

       In the opening paragraph, 
the candidate provides several 
explanations as to why Johnson 
is to blame for the disagreements 
with Congress over Reconstruction. 
Radical Republicans (RR) and 
Johnson have very different views 
– Johnson’s southern sympathy 
means he pardons many southern 
leaders, the RR favour a punitive 
approach – he opposes legislation 
such as the Civil Rights Act and 
the Military Reconstruction Acts, he 
dislikes the Freedmen’s Bureau. 
On the continuation sheet, the 
candidate references Johnson’s 
lack of action against Black Codes 
goes against the wish of Congress 
to give ex-slaves civil rights.

6
6



Example Candidate Responses – Paper 2

37

Example Candidate Response – high, continued Examiner comments

       The candidate provides the 
other side of the argument – before 
Johnson’s presidency Congress 
oppose Lincoln’s Reconstruction 
plan. Therefore, from the start, there 
is disagreement between Congress 
and the President.

       The reference to Hayes 
succeeding Johnson is an invalid 
statement. Grant is the next 
President.
Mark for (b) = 11 out of 20

7
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Example Candidate Response – high, continued Examiner comments

Total mark awarded =
19 out of 30

How the candidate could have improved their answer
•	 (a) The response started with a clear statement that foreign involvement in the Civil War allowed the South to hold 

out for longer, thereby prolonging the Civil War. The answer became more generalised with the reference to the 
North’s naval blockade and the problems it created for the South. The explained factors dealt with the roles played 
by blockade runners and commerce raiders, supplied by British shipyards, in undermining the effectiveness of the 
naval blockade. 

•	 (a) There was confusion shown in the description of the ‘Trent’ Affair, and there was no link established as to how it 
prolonged the Civil War. 

•	 (a) The concluding paragraph offered the explanation that blockade runners provided a counterbalance to the 
North’s advantage in men and materiel. The response could have accessed Level 4 if it had shown the connection 
between the various explained factors. A widening out of the discussion of foreign involvement to include France 
(e.g. her actions in Mexico), would have made the response more secure.

•	 (b) The answer started with some general reasons why Johnson was to blame for disagreements with Congress 
over Reconstruction. The response became more specific with relevant detail on Johnson’s actions on the Civil 
Rights Act, 1866, the Military Reconstruction Act, the Freedmen’s Bureau and the Tenure Act. 

•	 (b) There was a limited attempt to provide balance in the argument – Lincoln’s 10% Plan and the Wade Davis Bill. 
•	 (b) Inaccuracy was seen in the reference to Hayes, rather than Grant, succeeding Johnson. 
•	 (b) The concluding paragraph was assertive, offering no evidential support – what the Radical Republicans wanted 

was too radical for the time. The response would have been improved if the views and actions of Congress had 
been examined with more detailed knowledge as support.



Example Candidate Responses – Paper 2

39

Example Candidate Response – middle Examiner comments

       The candidate identifies ways 
the South benefits from foreign 
involvement, which prolongs the 
Civil War.

       This is an invalid statement. 
The British government allowed 
private firms to supply the South.

       The candidate provides an 
explanation – obtaining weapons 
means the South can fight for 
longer and make the winning of the 
Civil War a possibility.

       There is repetition of earlier 
points here. The reference to saving 
money is an invalid point as the 
South purchased the weapons.
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Example Candidate Response – middle, continued Examiner comments

       There is repetition of earlier 
points here.
Mark for (a) = 6 out of 10

       The candidate provides 
examples of the ways Johnson 
causes disagreements with 
Congress over Reconstruction. 
He vetoes improvements to the 
Freedmen’s Bureau, he shows 
leniency to former Confederate 
leaders and he neglects the well-
being of former slaves in the South.
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Example Candidate Response – middle, continued Examiner comments

       The candidate states how 
former slaves can hold office, 
without linking it to the question’s 
focus.

       This is an invalid statement as 
it is an assertion.

       The candidate states that the 
overturning of Johnson’s veto by 
Congress is the first such occasion 
in American history, without linking it 
to the question’s focus.
Mark for (b) = 10 out of 20

Total mark awarded =
16 out of 30
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How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The explained factor referred to the weapons supplied by Britain. The answer repeats this point and then loses 

the question focus by making the unsupported, and inaccurate, point that in not making weapons, the South saved 
money. 

•	 (a) The final paragraph was a summary of earlier points, rather than a supported conclusion.
•	 (b) The answer started with a clear statement on Johnson’s culpability and provided several examples in support. 

An attempt at balance was made but no link was established as to how former slaves holding public office 
caused disagreements over Reconstruction. The response became assertive in the reference to Johnson being 
unprepared for office, without giving evidential support. The result for the response was that it was unbalanced in 
its argument. 

•	 (b) In the concluding paragraph, reference was made to Congress overturning a President’s veto for the first time 
in American history, but no link was made with the question’s focus. 

•	 (b) The answer would have benefited from more detailed knowledge to support points made.

Common mistakes candidates made in this question
•	 (a) Some candidates did not grasp the mark tariff and answers were too long, which impacted on the time available 

for other answers.
•	 (a) Showed connections between the explained factors were not always present.
•	 (a) Answers often saw the British government actively supplying the Confederacy with ships and weapons.
•	 (b) Confusion was seen over the respective roles of Johnson and Congress.
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Question 5

Example Candidate Response – high Examiner comments

1

2

3

       The candidate identifies the 
overall aim of the Progressives.

       The candidate provides a full 
explanation of the belief of the 
Progressives that more active 
involvement in politics by the people 
will undermine political corruption. 
Support is given in the reference 
to the 17th Amendment, the direct 
election of senators.

       The candidate gives a further 
full explanation about the banning 
of alcohol. It destroys family life, 
undermines personal responsibility 
and its ready availability means its 
influence is widespread. It leads to 
the formation of anti-alcohol groups, 
supported by Progressives. This 
results in the passing of the 18th 
Amendment.
Mark for (a) = 8 out of 10

3

1

2



Example Candidate Responses – Paper 2

44

Example Candidate Response – high, continued Examiner comments

       

       The candidate describes some 
of the problems of urbanisation.

       This is a typo – stop the spread 
of diseases.

       The candidate explains that 
the actions of ‘Muckrackers’ expose 
the poor living conditions, and this 
brings some alleviation.

       The industries controlled by 
monopolies and ‘robber barons’ are 
an aspect of urbanisation and, so, 
have some relevance.

5

6

5

6

7

7

4
4



Example Candidate Responses – Paper 2

45

Example Candidate Response – high, continued Examiner comments

       The candidate provides the 
other side of the argument with 
an examination of the conditions 
workers face – government bias 
towards business and opposition 
to trade unions, referencing the 
Homestead Steel strike, 1892. 
Defeat in such strikes leads to the 
continuation of long working hours 
and low pay.

       The candidate states their view 
that the problems of urbanisation, 
on balance, are solved effectively.
Mark for (b) = 11 out of 20

Total mark awarded =
19 out of 30

How the candidate could have improved their answer
•	 (a) The answer started well with a clear statement of the main aim of the Progressives – improve the state of 

American society. 
•	 (a) The responses provided detailed explanations regarding the passing of the 17th and 18th Amendments. 
•	 (a) The answer would have benefited from a clear link being established to the aim of improving the state of 

American society.
•	 (b) The response started with a statement that the problems of urbanisation were dealt with effectively. There was 

some support provided for this view, but the answer became more generalised when it looked at ‘robber barons.’ 
•	 (b) An attempt was made at balance by looking at the alternative view through reference to labour relations. 
•	 (b) The response would have been improved if there had been detailed references to issues such as working hours 

and child labour. These would have provided a greater depth of evidence in support of the argument made.

8

9

8

9



Example Candidate Responses – Paper 2

46

Example Candidate Response – middle Examiner comments

       The candidate provides a 
general description of the areas 
Progressives wish to address – 
immigration, political machines, 
‘robber barons’, and poor working 
conditions.

       The candidate explains that 
Progressives seek change to the 
Constitution due to the influence of 
corporate interests on government.

       The final sentence provides 
an effective summary of the aims 
of Progressives as regards the 
Constitution.
Mark for (a) = 6 out of 10
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Example Candidate Response – middle, continued Examiner comments

       

       The candidate declares their 
own view on the extent to which the 
problems of urbanisation are dealt 
with effectively. They state what 
the problems are – treatment of 
immigrants – political corruption.

       The candidate gives further 
examples of problems urbanisation 
creates – dangerous working 
conditions – weakening of trade 
unions – lack of government action. 
The candidate provides support with 
references to the Triangle Shirtwaist 
Factory Fire and the Pullman Car 
strike. The reference to ‘pretext’ is a 
typo for ‘context.’5

5
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Example Candidate Response – middle, continued Examiner comments

       

       The references to the Seneca 
Falls Conference, Black Codes and 
Jim Crow laws are invalid for the 
question’s focus.

       The candidate makes the 
point that governments, following 
economic downturns in 1873 and 
1890, fail to address economic 
issues, without providing evidence 
in support.

       The candidate describes issues 
which relate to the Great Crash and 
Great Depression. These are invalid 
statements as they are outside the 
focus of the question.
Mark for (b) = 9 out of 20

Total mark awarded =
15 out of 30
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How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The explained factor dealt with corporate concerns influencing government. 
•	 (a) Some of the other examples offered – minimum wage/African American rights/monopolies – were not related to 

Constitutional Amendments.
•	 (b) The response started with an examination of political machines, particularly with regard to immigrants. This 

reference would have benefited from more explanation as to why immigrants were willing to accept political bosses. 
•	 (b) Valid references were made to issues facing workers which were not met – Triangle Shirt Waist factory fire – 

Pullman Car strike – decline in support for trade unions. 
•	 (b) The response lost focus when it examined the Seneca Falls Conference,1848, votes for women and the impact 

of Black Codes and Jim Crow laws on African Americans. 
•	 (b) The lack of detailed evidence about government response following the economic crises of 1873 and 1893 

meant the argument about inadequate government action lacked depth. 
•	 (b) A further lack of focus on the question was shown when the Great Depression of the 1930s was examined. 
•	 (b) There were sufficient valid points for the answer to be awarded Level 3.

Common mistakes candidates made in this question
•	 (a) Some answers focused on legislative changes relating to businesses, working conditions and hygiene, ignoring 

the question’s focus of the Constitution.
•	 (b) Some candidates failed to examine the other side of the argument and, as a result, lacked balance.
•	 (b) Some answers provided descriptive accounts with only implicit reference to the question’s focus.
•	 (b) General accounts of living and working conditions were given, which lacked detailed knowledge of the actions 

taken to deal with the issues of urbanisation, and so were unable to assess their effectiveness.
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Question 6

Example Candidate Response – high Examiner comments

1
2

3

       The candidate identifies a 
factor.

       This refers to dealing with the 
banking crisis.

       The candidate describes 
why Roosevelt (FDR) began his 
presidency with a ‘Hundred Days’ 
plan.

       The candidate explains the 
swift action in closing banks and 
re-opening only those which pass 
the government’s bill of health 
restores public faith, and this helps 
to stimulate the economy.

       Repetition of an earlier point.

       The candidate describes 
Alphabet Agencies.

       The candidate describes FDR’s 
fireside chats.
Mark for (a) = 6 out of 10
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Example Candidate Response – high, continued Examiner comments

       The candidate states their view 
that government policies of the 
1920s play some role in the Great 
Crash.

       The candidate explains the 
ways government policies caused 
the Great Crash – support for 
laissez-faire policies by all the 
Republican presidents in the 1920s 
leave areas of the US economy, like 
the Stock Market, unregulated. The 
practice of buying on the margin is 
gambling not investing and banks 
take part in this Stock Market 
gambling which leads to the loss of 
depositors’ money as stocks fall in 
price.

       The candidate explains the role 
of tariffs, which governments use, in 
undermining the economy – imports 
are more expensive, this leads to 
foreign countries placing retaliatory 
tariffs on American goods and this 
reduces American exports. The 
problem of over-production is made 
worse as a result.
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Example Candidate Response – high, continued Examiner comments

       The candidate provides the 
other side of the argument. They 
reference the over-production in 
agriculture, a legacy of the First 
World War. The production line 
efficiency of the car industry and 
availability of easy credit leads to 
supply out-stripping demand.

       This is a typo – Great Crash.

       The candidate describes 
Hoover’s belief in ‘rugged 
individualism.’

       The candidate gives a 
summary of an earlier point.
Mark for (b) = 14 out of 20

Total mark awarded =
20 out of 30

11

13

11

12

How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The answer provided, in the second paragraph, an unsupported claim that taking swift action would have 

increased support for Roosevelt. 
•	 (a) The explained factor dealt with his actions over the banks. The response became more generalised in its 

description of Roosevelt’s actions regarding Alphabet Agencies and fireside chats.
•	 (b) The answer started well with a range of details supporting the ways government policies were responsible for 

the Great Crash. There was a clear explanation of how the use of tariffs had a negative impact on the American 
economy. 

•	 (b) Explanation of the other side of the argument was provided. However, it would have been improved if the 
reference to the alleged inevitability of a business downturn, as part of the economic cycle, had been developed 
beyond a statement. 

•	 (b) The paragraph on Hoover, whilst valid, would have given its argument more focus if it had been included in the 
section dealing with government policies. The reference to the lack of Treasury action had no supporting evidence, 
which made the argument ineffective. 

•	 (b) The concluding paragraph was a summary of earlier points, not a supported judgement.
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Example Candidate Response – middle Examiner comments

       The candidate provides 
an explanation – the problems 
Roosevelt faces in 1933, record 
unemployment, the collapse of 
share prices and banks on the 
verge of collapse, means there is a 
great need to address these issues 
quickly.

       The candidate describes 
Roosevelt’s actions regarding the 
banks.
Mark for (a) = 6 out of 10

       The candidate explains that 
government is to blame for the 
Great Crash – it follows laissez-faire 
policies – speculation in the stock 
market is noted but no action is 
taken.3
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Example Candidate Response – middle, continued Examiner comments

       Margin – refers to buying on the 
margin.

       The candidate makes a general 
point that governments cannot 
control the policies of private 
companies concerning prices, 
without further development.

       The candidate provides a 
summary of earlier points.
Mark for (b) = 9 out of 20

Total mark awarded =
15 out of 20

How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. The explained factor dealt with the dire economic situation 
Roosevelt faced in 1933. The answer became generalised as it described Roosevelt’s actions regarding the banks.

•	 (b) The response started with reasons why government policies caused the Great Crash. The argument then fell 
away as a generalised point was made that governments cannot dictate the sales made by private companies, and 
reference was made to Roosevelt’s actions and the founding of the SEC. The lack of an examination of the other 
side of the argument meant Level 4 could not be accessed because the answer had not provided balance. There 
were sufficient valid points for the answer to be awarded Level 3.

Common mistakes candidates made in this question
•	 (a) Some answers described what Roosevelt did in his First and Second New Deals.
•	 (b) Some responses ignored the question’s timeframe, the 1920s, and focused on Franklin Roosevelt’s actions 

regarding the Great Depression.
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Question 7

Example Candidate Response – high Examiner comments

1

2

3

       The candidate identifies 
reasons why Germany is 
increasingly interested in an 
overseas empire after 1880; change 
in Bismarck’s foreign policy and 
public opinion to gain resources and 
prestige.

       The candidate explains that 
Bismarck seeks to ease tension 
with France by siding with her in 
colonial disputes with Britain.

       The candidate explains that 
public opinion favours imperialism 
as, for a newly unified country, it is 
a source of national pride to have 
an overseas empire like France and 
Britain.

       The candidate explains that 
Germany, as the largest economy in 
Europe, needs additional resources 
for its industries. The reference to 
Kaiser Wilhelm II and his wish for 
‘a place in the sun’ provides further 
support.
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Example Candidate Response – high, continued Examiner comments

       

       The candidate states 
Bismarck’s actions are the most 
significant, without assessing it 
against the other factors.
Mark for (a) = 8 out of 10

       The candidate briefly provides 
both sides of the argument.

       The candidate states that this 
treaty makes Japan a world power 
without explaining why this is the 
case.

       The candidate explains that 
victory over Russia makes Japan 
a world power as it is the first time 
an Asian country is victorious over 
a European power. They note 
a consequence of the treaty of 
Portsmouth for Japan.

       The candidate explains that 
the territorial gains Japan makes in 
the First World War (FWW) display 
her military power. This view of 
Japan as a world power receives 
further support in the reference to 
the positive impact FWW has on 
her economy. The reference to New 
Guinea is an invalid statement – 
Japan seizes a number of German 
island colonies which German New 
Guinea administers (Marianna, 
Carolina and Marshall islands).
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Example Candidate Response – high, continued Examiner comments

       The candidate provides the 
other side of the argument by 
examining Japan’s poor treatment 
at the Paris Peace Conference.

       The candidate gives further 
support to the argument that Japan 
is not a world power by the end of 
FWW with the references to the 
weak state of China and Russia 
in their wars with Japan. The 
conclusion provides a judgement 
which has some support – 
territorial expansion and economic 
improvement.
Mark for (b) = 15 out of 20

Total mark awarded = 
23 out of 30

How the candidate could have improved their answer
•	 (a) The answer started with a clear identification of three factors which caused Germany to be increasingly 

interested in an overseas empire after 1880. The response went on to explain the identified areas. 
•	 (a) The concluding paragraph repeated earlier points made in the opening paragraph and summarised the first 

explained factor – change in Bismarck’s foreign policy. 
•	 (a) The answer would have benefited by showing the connections between the explained factors, as this would 

have opened access to Level 4.
•	 (b) The response made a good start with a brief outline of the opposing arguments. Whilst the Anglo-Japanese 

alliance, 1902, was stated as a reason for Japan to be classed as a world power, no evidence was used to support 
this claim. The response was more specific when it provided an explanation of how the Russo-Japanese War made 
Japan a world power. 

•	 (b) The answer noted Japan’s gaining of Korea, this should have given some depth to the argument but there was 
a lack of detail. There was further support for the argument in the paragraph concerning Japan’s gains because of 
the First World War. The detail was broadly correct except for the reference to New Guinea. 

•	 (b) The argument would have benefited from a discussion of the modernisation undertaken in Japan because 
of the Meiji Restoration. This would have provided context for Japan’s military success. The answer provided an 
explanation of the other side of the argument, producing a balanced answer. 

•	 (b) The weakened state of China in 1894 and Russia in 1904 were referenced. However, more detail about the 
proposed Racial Equality Clause and its rejection would have given additional depth to the argument that Japan 
was not a world power by the end of the First World War.
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Example Candidate Response – middle Examiner comments

       This is an invalid statement.

       The candidate explains the role 
Kaiser Wilhelm II’s foreign policy 
outlook plays in German interest in 
an overseas empire after 1880 – 
Weltpolitik and ‘a place in the sun’.

       This is an invalid statement as 
the question’s focus is the interest 
in an overseas empire after 1880.

       The candidate explains 
that Germany sees overseas 
possessions as bringing prestige 
and wealth, as seen in the imperial 
actions of other European powers.

       The candidate states 
significance without assessing it 
against other factors.
Mark for (a) = 7 out of 10

3

1

2

1

2

3

4

4

5

5



Example Candidate Responses – Paper 2

59

Example Candidate Response – middle, continued Examiner comments

       The candidate explains 
how internal reforms – the Meiji 
Restoration – provides Japan with 
the industrial, economic and political 
means to become a world power.

       The candidate provides further 
support with the reference to the 
Anglo-Japanese Alliance. Japan is 
an ally of one of the greatest world 
powers.

       The candidate provides 
an explanation for Japan not 
being a world power by the end 
of the First World War (FWW) 
through reference to the losses 
Japan suffers due to the Triple 
Intervention, 1895.

       The candidate provides a 
counterargument to Japan not 
being a world power by referencing 
the gains Japan makes through her 
victory in the Russo-Japanese War.
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Example Candidate Response – middle, continued Examiner comments

       The candidate states that 
Japan’s economy benefits, 
through exports, during FWW. The 
reference to ‘not at war’ is an invalid 
statement.
Mark for (b) = 9 out of 20

Total mark awarded =
16 out of 30

How the candidate could have improved their answer
•	 (a) The response showed a lack of precision with the invalid statement that Kaiser Wilhelm II ‘seized power.’ The 

answer was accurate in its two explained factors, Wilhelm II’s foreign policy aims, and the wealth and prestige 
imperial actions produced, but lost focus with its description of the Anglo-German naval race. 

•	 (a) The answer would have benefited by showing the connections between the explained factors, as this would 
have opened access to Level 4 marks. However, the response’s organisation hindered the establishing of any 
connection, as it started with Wilhelm II’s aims and then examined events in 1884.

•	 (b) A clear statement on the role of the Meiji Restoration in making Japan a world power was made at the start 
of the response. However, specific detail on military reforms would have given more support to the argument. 
There was further support for the argument that Japan was a world power in the explanation provided about the 
significance of the Anglo-Japanese alliance, 1902. 

•	 (b) The examination of the losses Japan suffered because of the Triple Intervention in 1895 would have benefited 
from a clear statement that this showed Japan was not yet a world power. 

•	 (b) Support for Japan as a world power was presented in the references to Japan’s gains in the Russo-Japanese 
War and the economic gains due to the First World War. 

•	 (b) The concluding paragraph was a repetition of points made earlier, not an argued judgement. There were 
sufficient valid points for the answer to be awarded Level 3.

Common mistakes candidates made in this question
•	 (a) Some candidates provided descriptions of how something occurred rather than explanations of why it occurred 

and contained factual inaccuracy.
•	 (a) In some responses, there was a reliance on assertion which lacked factual support.
•	 (a) Some answers lost the question’s focus and described the naval race with Britain.
•	 (b) Some responses examined Japan’s position only up to the end of the Russo-Japanese War.
•	 (b) Some responses provided a limited range and depth of factual support.
•	 (b) Few responses made a comparative judgement about the relative merits of different arguments.

10 10
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Question 8

Example Candidate Response – high Examiner comments

1

2

3

       The candidate describes 
the long-term animosity between 
France and Germany.

       The candidate explains the 
impact of the First World War 
on relations – a second German 
invasion - the physical destruction 
this causes – the French aim is 
to punish Germany at the peace 
conference to prevent another 
invasion, hence limits on Germany’s 
military, the War Guilt clause and 
reparations.

       The candidate explains 
the Genoa Conference’s failure 
is through France refusing to 
compromise. This causes Germany 
to leave, so they make no 
improvement in their relations.

       The candidate explains that the 
Ruhr invasion worsens relations 
further as Germany experiences 
hyper-inflation. The isolation and 
lack of security France feels leads 
her to be more open to discussion 
and this leads, after 1924, to 
relations improving, which the 
candidate supports with references 
to the Dawes Plan, Locarno 
Treaties and Young Plan.

       The candidate states that 
French fear of further invasion is 
the most significant factor without 
assessing it against the other 
factors.
Mark for (a) = 8 out of 10
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Example Candidate Response – high, continued Examiner comments

       

       The candidate explains that the 
fear of communist expansion and 
the fomenting of revolutions within 
their own countries cause European 
powers to shun the USSR and 
support anti-Bolshevik groups. At 
Genoa, the USSR feels isolated like 
Germany.

       The candidate provides the 
other side of the argument by 
examining the Rapallo Treaty, 1922. 
The USSR receives recognition 
from a European power, Germany, 
and this recognition renews for 
a further five years at the Treaty 
of Berlin, 1926. They give further 
support in the reference to treaties 
with France and Britain in the 
1920s.

       The candidate concludes that 
the USSR’s relations with other 
European powers are weak in the 
1920s and qualify the strength 
of the relations with Germany, 
whose aim is to seek benefits for 
themselves.
Mark for (b) = 13 out of 20

Total mark awarded =
21 out of 30
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How the candidate could have improved their answer
•	 (a) The answer started with a description of the animosity between France and Germany since 1871. This provided 

background rather than explanation related to the question’s focus. 
•	 (a) The response did provide three explained factors – the impact of the First World War on France – the failure 

of the Genoa Conference – the invasion of the Ruhr. However, the response would have been improved by 
establishing the connections between the explained factors. 

•	 (a) The lack of such connections meant that Level 4 marks could not be accessed.
•	 (b) The response started well with an explanation of the fear European powers, such as Britain and France, had of 

Communist expansion, and how this impacted on relations with the USSR. Reference was made to the USSR not 
being a member of the League of Nations. Although non-European nations were members, the reference was valid 
as European nations dominated the organisation. 

•	 (b) The other side of the argument was explained through the examination of the Rapallo Treaty and further 
supported with reference to agreements with Britain and France in the 1920s. 

•	 (b) There was an inaccuracy, as the USSR joined the League of Nations in 1934, not the late 1920s. The extent of 
this recognition was questioned, but there was a lack of support to illustrate the on/off relations between the USSR 
and European powers (e.g. Britain 1921, 1924 and, finally, 1929).
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Example Candidate Response – middle Examiner comments

       The candidate identifies the 
damage France suffers in the First 
World War (FWW) as a reason 
why relations with Germany do not 
improve before 1924.

       This is an invalid statement.

       The candidate identifies a 
further reason – the French desire 
for revenge.
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Example Candidate Response – middle, continued Examiner comments

       The candidate explains that the 
Paris Peace Conference provides 
France with the opportunity to get 
revenge. They outline the military, 
economic and territorial aspects 
of the Treaty of Versailles. These 
cause Germany to be economically 
and militarily crippled.

       Repetition of earlier point.

       The candidate states the failure 
to deal with the issue of reparations 
causes relations between France 
and Germany to remain poor.

       The candidate notes why 
relations improve, which is not the 
question’s focus.
Mark for (a) = 6 out of 10
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Example Candidate Response – middle, continued Examiner comments

       The candidate states their view 
in the opening paragraph. They 
provide support by referencing 
British and French fears of 
Communism, which jeopardises 
democracy. The poor state of their 
economies sees a growing political 
extremism. This means the USSR is 
not successful in establishing links 
with European powers.

       The reference to the League of 
Nations is valid. Whilst it is made up 
of nations from all over the world, it 
is dominated by European powers.

       The candidate provides the 
other side of the argument by 
referencing the Rapallo Treaty and 
how it provides mutual benefit to the 
USSR and Germany.

       The candidate notes how 
Rapallo hinders relations between 
the USSR and France, as France 
feels insecure at the growing 
closeness of Germany and the 
USSR.
Mark for (b) = 10 out of 20

Total mark awarded =
16 out of 30
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How the candidate could have improved their answer
•	 (a) Only one explanation was attempted. At least a second was needed to provide the opportunity to show 

connections between factors and reach Level 4. 
•	 (a) The answer started with identifying reasons for the lack of improvement in relations before 1924. 
•	 (a) There was a lack of precision in the reference to the Holy Roman Empire, as it had ended in 1806. 
•	 (a) The response became more generalised with a description of Wilson’s opposition to French demands at 

Versailles. The explained factor dealt with the opportunity Versailles provided for France to get revenge. However, 
this was followed by repetition of earlier points that France wanted the German economy to be weak to prevent 
further invasions. 

•	 (a) There was a loss of focus in the reference to America providing loans to Germany. 
•	 (a) The final paragraph was not a reasoned conclusion as it repeated earlier points.
•	 (b) The response started with the expression of a view about the question. This was supported through an 

explanation of the context for British and French fears of Communist expansion. 
•	 (b) The reference to the League of Nations was valid, as it was dominated by European powers. 
•	 (b) An attempt was made to show the other side of the argument in the discussion of the Rapallo Treaty. The lack 

of detailed factual support (e.g. its renewal for five years at the treaty of Berlin, 1926) meant the argument was 
without evidential support. This lack of evidential support continued in the reference to France feeling insecure 
because Germany signed the Rapallo Treaty. The answer, therefore, would have been improved by deploying more 
factual knowledge in support of presented arguments.

Common mistakes candidates made in this question
•	 (a) Responses, at times, ignored the terminal date and described relations post-1924 (Dawes Plan/Locarno 

Treaties/Young Plan).
•	 (b) Few candidates grasped the on/off relations between the USSR and Britain in the 1920s.
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Question 9

Example Candidate Response – high Examiner comments

1

2

3

       The candidate gives an 
explanation as to why American 
actions to limit Japanese expansion 
in the region leads to the attack – 
strengthening of America’s naval 
power in the region – support for the 
Kuomintang in China – America’s oil 
embargo on Japan.

       The candidate explains the 
choice Japan faces in 1941, either 
accept American terms or overcome 
the oil embargo by seizing the 
oil-rich Dutch East Indies. The 
Japanese choose the latter, which 
means an attack on Pearl Harbor 
where the American Pacific Fleet 
lies.

       The candidate explains that the 
aim is to cripple America’s ability 
to wage war in the region and 
undermine her morale. This attack 
will lead to favourable peace terms 
for Japan and end American efforts 
to stop Japanese expansion.
Mark for (a) = 8 out of 10
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Example Candidate Response – high, continued Examiner comments

       

       The candidate outlines their 
argument – the Long March (LM) 
establishes Mao’s leadership but 
there are other important outcomes.

       The candidate describes the 
reasons for the LM, the losses the 
Chinese Communist Party (CCP) 
suffer, and where the CCP set up 
their new base.

       The candidate states Mao’s 
actions on the LM helps the CCP to 
survive Kuomintang (KMT) assaults. 
This establishes his leadership of 
the CCP.

       The candidate attempts to 
provide the other side of the 
argument by examining the fact 
that if the CCP does not physically 
survive the LM, Mao’s leadership 
has no meaning.
Mark for (b) = 10 out of 20

Total mark awarded =
18 out of 30
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How the candidate could have improved their answer
•	 (a) The response started well with a clear explanation that American actions seeking to limit Japanese expansion in 

the region led to Japan’s attack on Pearl Harbor.
•	 (a) Two further explanations were provided in the following paragraph. However, the response would have been 

improved by establishing connections between the explained factors. The lack of such connections meant that 
Level 4 marks could not be accessed.

•	 (b) An outline of the answer’s argument was given in the opening paragraph. The answer became more general 
with the description of why the Long March was undertaken, losses the CCP suffered and where it set up its new 
base. 

•	 (b) The argument that Mao’s actions secured the CCP’s survival would have been more secure if detailed support 
had been given. For example, the policy of fair treatment of the peasantry led to growing support for the CCP 
amongst peasants and Mao’s actions at the Zunyi Conference ended the power struggle in the CCP’s leadership 
and made him the undisputed leader. 

•	 (b) There was a limited attempt to show the other side of the argument – if the CCP had not physically survived 
then Mao’s leadership would have no meaning. However, the lack of support (for example, the creation of a heroic 
narrative for the CCP because of its survival) meant the argument’s depth was limited.
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Example Candidate Response – middle Examiner comments

       The candidate provides general 
points on why Japan attacks Pearl 
Harbor, December 1941.

       The candidate identifies a 
reason for the attack – Japanese 
militarism. The reference to the 
effectiveness of tactics and troops 
are invalid as they are assertions.

       Exclusion from the peace 
negotiations is an invalid statement.

       The candidate identifies a 
reason for the attack – to weaken 
America. The reference to ‘Japan’s 
outrage’ is an invalid statement 
as it is based on the previous 
invalid statement about the peace 
conference.
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Example Candidate Response – middle, continued Examiner comments

       The candidate moves away 
from the question’s focus to 
describe a consequence, not a 
cause, of the attack.

       Symbolic – this is an invalid 
statement as it deals with a 
consequence, which is not the 
question’s focus.

       The candidate identifies a third 
reason – growing international 
tension.
Mark for (a) = 5 out of 20
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Example Candidate Response – middle, continued Examiner comments

       The candidate provides an 
invalid statement. The link to the 
question’s focus is unclear.

       The candidate states the Long 
March (LM) provides the Chinese 
Communist Party (CCP) with the 
opportunity to gain support.

       The candidate states the 
LM reveals the weakness of 
the Kuomintang (KMT), and, by 
implication, the strength of the CCP.

       The candidate states that after 
the LM there is a loss of support for 
the KMT and assert that the quality 
of their recruits suffers.
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Example Candidate Response – middle, continued Examiner comments

       The candidate states that the 
LM allows Mao to increase CCP 
support amongst the peasantry by 
promising stability.

       The candidate states the LM 
establishes Mao’s leadership, 
without supporting references such 
as the Zunyi Conference, 1935.

       The candidate states Mao’s 
leadership of the CCP is the most 
important outcome of the LM.
Mark for (b) = 7 out of 10

Total mark awarded =
12 out of 3014
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How the candidate could have improved their answer
•	 (a) The response started with general points on why the Pearl Harbor attack took place. Japanese militarism was 

identified as a reason. However, the reference to the effectiveness of Japanese troops and tactics was an assertion 
not an explained point. This was the case, also, in the reference that Japan sought in the attack revenge for her 
humiliation at the Versailles negotiations. 

•	 (a) Two other reasons were identified – to weaken America and growing international tension. 
•	 (a) There was a loss of focus when it was stated that the attack was symbolic of Japanese power, this was 

a consequence not a cause. Therefore, the response would have benefited from the identified points being 
developed with accompanying support into explained reasons, and the connections between the reasons shown.to 
reach a supported conclusion.

•	 (b) The answer started with a reference to political turmoil in Japan, but no clear link to the question’s focus was 
established. Therefore, the response would have benefited from the point being explicit rather than implicit. 

•	 (b) The answer continued in a generalised way. Mao’s appeal to the peasantry was noted, as was his loyalist 
policies. However, no evidence was presented in support (e.g. the Rectification Movement). 

•	 (b) The final paragraph stated, rather than argued, that Mao’s leadership of the CCP was the most important 
outcome of the Long March. The response would have been improved by using detailed factual knowledge as 
support for the development of the arguments presented.

Common mistakes candidates made in this question
•	 (a) The consequences of, rather than the causes of, the Japanese attack on Pearl Harbor were given.
•	 (b) Some responses described the Kuomintang encirclement campaigns.
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